X -2V - llgg 35.9 b (13 Tev) X - 2V - ligg 35.9 fb™* (13 TeV,
!

> S L e S s e s s s > A L e B B B

8 r 1S —e— Data b 8 F CMS —e— Data 4

° ., Preliminary [ z_(||3v+vjve\;\7 o r Preliminary [ Z'("\)/\;\/{/e\}; ]

0 10" = tt 1 [Te} ttt

; E Merged Untagged ==L, ; 102 Merged Tagged ==

€ C W Bkg. unc. | e E & Bkg. unc.

4 T m, =600 GeV B o C - my =600 GeV ]

T g2 G - Z(hz(aa) . G- 2z
E k=05 r K=05 7
- E 10

.
2 = = [ 2 = N
xindor=gasasl 5k X'indof = 3210018
%—% ccaimmiiiana g R §
—e— S o 1k i
R AN @ty
R R 0.5 ’f R d — MANNRRN
BE TR NN
600 800 1000 1200 1400 1600 1800 2000 400 600 800 1000 1200 1400 1600 1800 2000
myz (GeV) myz (GeV)
X - 2V - llgq 35.9fb™ (13 Tev) X -2V - llgg 35.9fb™ (13 Tev)
%105}‘0"\‘45‘”“”‘H“H“H“H“H‘H‘ % J\C‘:MS‘HWH“HH“H“H“H“HL
E —e— Data r —e— Data ]
g E Preliminary . Z(ll) + jets B g ; Preliminary . Z() + jets 4
< L tttw Ww I 10° tttw Ww —
Resolved Untagged E Resolved Tagged
2 10° -z 2 F -
c E Wy Bkg. unc. e c W Bkg. unc. 7
4 c e e m, =600 GeV 3 o . my =600 GeV B
w r G -~ Z(Z(qa) B w G -~ Z(IZ(qq)
10° k=05 k=05

| Xindof =17.31

Mt

\ . N
g R it
T4 S N S N
\
SN F .

Data/fit

N

400 600 800 1000 1200 1400 1600 1800 2000 200 400 600 800 1000 1200 1400 1600 1800 2000

myz (GeV) Myz (GeV)



